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RiEE (BXRW\) (& [LREAE] x T8l TETEReEHL. [RIFER] THRESNTLSE
BTARZHLET.
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o 1 (—&f2BEETOEEZREE)

FAEIE 74.63[%]
R TH 2.79[%]
HETH 6.42[%]
AIH 50.72[%]
BHTE  5.84[%]
ERIE - 8.83[%]
NETE o 7.420%]
RETE o 2.12[%]
FANEETE 2.09[%]
SERATE 5.43[%]
ANRETH 5.34[%]
BETH 1.62[%]
BIH 1.37[%]
RETE 12.33[%]
ERNEHELISE 32.51[%]
BERFEIS - 18.94[%]
BHKERTE 41.4[%)
HATE o 7.15[%]
BRE | 13.04[%]
e 100[%]

o X2 (2 BOEEZEE)

AETE 73.65[%)
R TH 2.93[%)
HpTHE  6.04[%]
AIE | 54.04[%]
Y TE . 5.63(%]
ERTH 6.26[%)
NETE o 67(%)
RETH L 1.92(%)
FANEETE o 2.43(%]
£ERETSE 5.69[%)
ABEATH 5.08(%)
BETE 1.93[%)
WTE o 133(%]
BT - 13.22[%]
ERNRBIE 33.1[%)
BRREIE 18.14[%]
TeEPKRIR IS 42.15[%]
AZIH 6.620%]
HEH | ~ 13.13[%)
EEe 100[%]

2/4



=[]

o X3 (FEATZEE)

AELH 74.04(%)
R TH 2.69[%]
ERTH 9.06[%]
KIH 44.05[%]
BHIE 12.91[%]
ERTH 11.35[%]
HETE 4.8[%]
RETE 1.6[%]
AANEETE 2.01(%]
SREATH 4.36(%]
AMEETE 4.97(%)
BETH 057[%]
MTH 1.63[%]
BIIE | 12.94[%)
ERABRBIE 31.77(%)
ERXHELE 16.76[%]
ARG ETE 45.12[%)]
HATE 6.35[%]
ERE | 13.02[%)
R 100[%]

o X4 (GRETE8ZFE. HiwITE2 )
BETHE 80[%]
HERIE 5[%]

ATH 40[%]
ERIE 5(%)
EETH 10(%]
RATH 10(%]
T 10[%]
% 5[%]
MTE 5(%]
R 10[%]
RFIE 20[%]
BERIE '50[%]
BHA TS 50(%)

EBT=
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o X5 (KAIEDH)

RETE 2[%]
REE T 100[%]

ERTE 5[%]
ARIHR 100[ %]

AI%E 40[%]
Wit 60[%]

e 30[%]

KIFM 10[%]

EBRI®E 8[%]
EiRITHE 100[ %]

EBEI®E 7[%]
HEB 50[%]

B 50(%]

=9 - WEITH 3[%]
=¥ - IReIHE 100[%]

24 ILITH 3[%]
HNEB R A L 20(%]

WER & A L 80[%]

MEEaTH 4[%]
X8 10[%]

—Es 90[%]

AREPBETH 8[%]
A 80[%]

[&EF 10[%]

8 10[%]

FETE 3[%]
SRR EE 50[%]

AR 50[%]

ANEITE 7(%]
AMETE 100[%]

RETH 5[%]
RETH 100[ %]

MTHR 5[%]
MTH 100[%]
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